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N RERBAOB T EETEme/kD) |
\ HhH 5 = >

BEL AANE RE INE RKE | KEEMT E54AZL <4,A Q4% WE B 5FSm B quiwéiéa WE | RELS
¥ -BHC 0.4 0.05 0.05 0.4 0.01 0.005
2,4-D 0.5 0.5 0.5 0.05 0.5 0.5 260 1 0.05
BHC 0.02 0.005 0.005 0.005 0.01 0.005
DDT 0.1 0.1 0.1 0.1 0.02 0.02
F7tIz—F 0.5 3 0.1 0.1
FrSOY 0.02 0.02 0.3 0.2 0.02 0.02 15 1 0.01
75— 0.1 0.02 0.05 0.05 0.05 0.02
FLSHLTD 0.2 0.02 0.02 0.05 0.2 1 0.1 0.01
FIRYORUTAILEYY 0.02 0.02 0.02 0.02 0.01 0.01
LY7o ERR 0.02 1 0.01
1HEYH 0.05 0.5 0.5 0.01 3 1 0.01
ATHEL 0.05 5 7 0.05 30 1 0.01
1389aFYr 0.05 0.05 0.05 0.05 0.05 0.05 0.5 0.5 0.02
IFAY 20 1 0.1
IVRYY 0.01 0.01 0.01 0.01 0.01 0.01
HIWEYT ROZWEYTRUFAIIT L 0.2 0.2 0.2 0.2 0.2 0.2 0.7 0.05 0.05
AL 10 5 2 0.1 10 5 250 1 0.1
AWRVES L FAT7R— FAT7
F—FAFILBUAR/ZIL 0.6 0.6 0.6 0.7 0.6 0.6 10 1 0.1
ARI5Y 0.1 0.2 0.2 0.05 0.1 0.1 13 1 0.05
Xy Fay 10 1 0.1
JyRY—k 20 20 5 1 20 0.2 120 1 0.1
TR 32—k 0.5 0.2 0.1 1 0.1
HOILEYRR 0.75 0.2 0.5 0.1 0.75 0.01 13 1 0.01
HAIEYRAAF )L 10 6 10 7 10 7 1 0.1
Haoz EVRA 0.05 0.05 1 0.02
VI=V = h N 0.05 0.05 0.05 0.05 1 0.02
HaRyTL—b 0.02 1 0.01
STV 0.01 0.05 0.1 0.1 0.01 0.01 0.01 0.01 0.01
Shon 3 7 2 10 10 0.5 4 0.1 200 1 0.05%*
SHAOLRARUFLE 0.2 0.2 0.2 0.2 0.2 0.2 10 1 0.05
SHIYb 2 5 2 0.05 2 0.03 100 1 0.01
onaryy 0.2 0.2 0.05 0.04 0.2 0.02 0.6 0.05 0.01
NN 2 2 2 2 2 2 3 0.1 0.1
oDy 0.3 9 1 0.1
SART—k 0.2 0.04 0.05 1 0.2 0.2 2 0.1 0.01
AT/ 0.1 0.1 0.1 0.02 0.1 0.1 10 1 0.01
FFRUET— 0.05 0.05 0.5 0.05 0.05 0.05 10 1 0.05
TIVEAN) Y RUNSAARY 1 1 1 1 1 1 5 1 0.1
FILTHRR 0.05 0.01 0.01 0.01 0.05 0.005 1 0.1 0.005
KI5 JT— 0.02 0.02 0.02 0.02 0.02 0.02 5 05 0.01
ZE{xFLY 0.01 0.01 0.1 0.01 0.01 0.01 1 0.01
NRSa—p 0.5 0.05 0.05 0.1 0.5 0.05 5 05 0.02
RSFFY 0.08 0.5 0.3 0.3 0.08 0.05 5 0.5 0.01
EROZLTFFVR 24 24 24 24 24 24 1 0.1
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- HEREAOH ~EETEme/i |
\ HhH 5 = >
BEL AAE & INE AE KREEHIFESHBCL 1A SAR BE  m 5ycm B u4:$d)€i.\%ﬁi HE KELS
EYSHRAFIV 1 1 1 1 1 1 1 0.1
2478=)L 0.2 0.01 0.02 0.02 0.05 0.01
Zz=kAFAY 1 5 10 1 1 1 10 1 0.1
2z/ThNT 0.3 0.3 0.3 0.3 0.3 0.3 1 0.1
ZzobI—+ 0.4 04 0.4 04 0.4 04 1 0.1
Zzv/LL—F 13 0.5 4 8 1 0.1
x>0y 20 1 0.1
JoEXI=N 0.2 0.2 0.2 0.2 0.2 0.2 0.1 0.05 0.05
~Fsyan 0.02 0.02 0.02 0.02 0.01 0.01
RIVARY Y 2 2 2 2 2 2 55 1 0.1
By 0.2 0.2 0.2 0.2 0.2 0.2 3 0.1 0.05
RUTF1A8) > 0.1 0.2 0.2 0.2 0.1 0.2 15 0.1 0.05
RRAVE 0.05 0.05 0.05 0.05 0.05 0.05 40 1 0.02
wL—bk 0.05 0.05 0.05 0.05 0.05 0.05 1.5 0.1 0.02
RSIFAY 2 2 8 2 2 2 135 1 0.1
*AFEFE 0.2 0.02 0.02 0.1 0.2 0.02 12 1 0.01
ATy 5 5 5 5 5 5 1 0.1

* KERUXEHENTDFA0.1 me/kg



